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NEFF BRAGIER FREERFI B4 BT A HHEL
1 10:00 09:40 B +-4X100mR r7 v HAR =2 3
2 10:15 09:55 4 +-4X100mR r7 w7 JAN =2 3
3 10:30 10:10 5 ¥-3000m N4 VEENGS 1
4 10:45 10:25 #2+-3000m N JARV=A 1
5 11:00 10:40 FRE2 B - 110mH N BARV =2 1
6 11:05 10:45 (B - —f%) BF1iomH  ~F w7 BAD= 1
7 11:15 10:55 FR 24 +-100mH N4 VRINZS 3
8 11:25 11:05 =% A2 -100mH ro7v7 HARV—=2 2
9 11:40 11:20 5 7-800m r7 w7 JAR=A 2
10 11:50 11:30 #+800m N4 JARV=2 4
11 12:10 11:50 FF100m ( LRL~10%H) N4 BAN—=A 10
12 12:40 12:20 B F100m (1141~ 15%L) N4 BANV=A 5
12 12:55 12:35 4¢1-100m ro w7 BAR =2 12
13 13:45 13:25 5 -5000m r7v 7 HARV—=2 1
14 14:15 13:55 B 7-400m rN7 w7 JAR=A 4
15 14:35 14:15 4 +-400m N4 VEINZ 3
16 14:50 14:30 5 +-1500m N4 JARV=A 2
17 15:05 14:45 #F1500m N JABV=A 2
18 15:25 15:05 % F-200m N HADV=2 5
19 15:45 15:25 22F-200m N4 BAN =2 4
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1 10:00 09:20 B ARk AA P 1
2 10:00 09:20 BT m bk AV —r N 1
3 11:00 10:20 Lo 1 EmRBk A s 1
4 11:00 10:20 T AE Rk A — P 1
5 11:30 10:50 Tk Ny s 1
6 11:30 10:50 Lo Fe ik Ny P 1
7 13:00 12:20 B = ek AA P 1
8 14:00 13:20 - =Bk A s 1
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1 10:00 10:50 Bt BY — s 1
2 11:30 11:50 AL BY—v N7 1
3 13:30 13:20 B0 # BV —y N7 1
4 13:30 13:20 LA # B —v NIz 1
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